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Shall we say, because he agrees with Rabi Chaneenoh

OVERVIEW

The X3 relates that a barrel of wine was found in a vineyard of 797y grapevines.
X1°27 permitted the wine to be drunk. The X n3 asked, shall we say the reason X1°27
permitted the wine because he agrees with 11" that 2177 AR 797 21921 21, and
since most vineyards are not 7177y, it is AN, even though this barrel was found
close/within (2192) to an 797 vineyard.

Moo responds to an anticipated difficulty:
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And one cannot say that perhaps X1°27 disagrees with 11"9 (and follows the 217p
[and not the 217]) and the reason that he permitted the wine is because the rule is

that questionable 797y is permitted outside X7 Y7K; moon rejects this approach -
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For if X117 disagrees with 11'', but rather maintains that by 2191 2319 we follow
the 217p, so indeed it is positively 799% and 777w *x7 would be T10X even in ™.

SUMMARY
If X1°27 would follow the 2177 it would be 7377y *XT1.

THINKING IT OVER
Why cannot we say that X1°27 maintained that 23721 217 are equal or we are not sure
which is ‘stronger’® (and he does not agree with "), and therefore it is 797y po0?¢

%127 obviously lived in 5"r.

2 mpoin is teaching us that when we follow the 217 (or the 217P) it means that we assume with certainty that it is
according to the 211 (or 217p), therefore if X127 would have maintained 21997 90X 71277 it would be 710K *X71. In the
question MooIN may have presumed that we just follow the 2117 (or the 217) 757772, but not that it is a *X7.

3 See w"w.

4 See nwn noma.
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